Red

1)31x10 = 310
2)43x10 = 430
3)58x10 = 580
4)34x10 = 340
5)43x100 = 4 300
6)68x100 = 6 800
7)92x100 = 9 200
8)325x100 = 32 500

1)56x10 = 560
2)84x10 = 840
3)456x10 = 4 560
4)4.6x10 = 46
5)98x100 = 9 800
6)76x100 = 7 600
7)456x100 = 45 600
8)6.9x100 = 690

1)345x10 = 3 450

2)456x10 = 4 560

3)56.3x10 = 563

4)Pim has 123 boxes. Each box has 10 apples. How many
apples are there in total? 1 230 apples

5)345x100 = 34 500

6)857x100 = 85 700

7)45.8x100 = 4 580

8) | think of a number and multiply it by 10, then | multiply
the result by 100. My answer is 70 000. What was my
original number? 70000+ 100+10=70



